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1. …ÛÅÛé”ÛÛé¶Ûà ¾Ûþùþù¬Ûà …¬ÛÙÉÛÛÍªÛ¶ÛÛ ÜÈÛÜÈÛµÛ ÜÈÛµÛéýÛÛé ÍÛ¾Û›ÛÈÛÛé. 14 

               …¬ÛÈÛÛ 

 ÜÈÛïõÅÛ¶ÛºõÇ …¶Ûé …Û×ÜÉÛïõ ÜÈÛïõÅÛ¶ÛºõÇ¶ÛÛ Ü¶ÛýÛ¾ÛÛé ÍÛ¾Û›ÛÈÛÛé.  
 

2. ÍÛ×ïõÅÛ¶Û¶ÛÛ Ü¶ÛýÛ¾ÛÛé¶Ûà ©Û¬ÛÛ …¬ÛÙÉÛÛÍªÛ¾ÛÛ× ©Ûé¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ ˜Û˜ÛÛë. 14 

       …¬ÛÈÛÛ 

 ˜Û˜ÛÛÙ ïõÁõÛé : 

 (a) Ü¶ÛÊ˜ÛÛýÛïõÛé¶ÛÛ ÅÛ“Û¨ÛÛé  

 (b) ËÛéÜ¨ÛïõÛé ¸ÛÁõ¶Ûà Ü’õýÛÛ…Ûé  

 

3. ˜Û˜ÛÛë ƒ (•Û¾Ûé ©Ûé ¼Ûé)  14 

 (a) ÍÛ×½ÛÛÈÛ¶ÛÛ¾ÛÛ× •Ûä̈ ÛÛïõÛÁõ¶ÛÛé Ü¶ÛýÛ¾Û  

 (b) ÉÛÁõ©Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ 
 (c) ¼ÛéýÛ¡ö ÜÍÛ±ùÛ×©Û  
 (d) ¼ÛéýÛ¡ö ÜÍÛ±ùÛ×©Û¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ…Ûé  

 

4. ˜Û˜ÛÛë : (•Û¾Ûé ©Ûé ¼Ûé)  14 

 (a) Ü³ù¸Ûþùà ÜÈÛ©ÛÁõ¨Û¶ÛÛ •Ûä̈ Û-þùÛéÌÛ 
 (b) ¸ÛÛé̂ ÍÛ¶Û ÜÈÛ©ÛÁõ¨Û¶ÛÛ •Ûä̈ Û-þùÛéÌÛ 
 (c) ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ©ÛÁõ¨Û¶ÛÛ •Ûä̈ Û-þùÛéÌÛ 
 (d) ÍÛÜþùÉÛ¶ÛÛ •Ûä̈ ÛµÛ¾ÛÛë  
 

5. ÍÛÛ˜ÛÛ ›÷ÈÛÛ¼ÛÛé ¸ÛÍÛ×þù ïõÁõÛé : 14 

 (1) ˜ÛÅÛ ÁõÛÜÉÛ¶Ûà –ÛÛ©Û …éïõ ÐüÛéýÛ, ©ÛÛé ÜÈÛµÛéýÛ ________ ÐüÛéýÛ ™öé.  
   (a) ÍÛäÁéõ”Û (b) ¸ÛÁõÈÛÅÛýÛ 
   (c) ÜªÛ–ÛÛ©Û (d) ÈÛ’õÛïõÛÁõ 
 (2) ÍÛÛµÛ¶ÛÛé¶Ûä× ¸ÛéþùÛÉÛ¾ÛÛ× Äõ¸ÛÛ×©ÛÁõ ¶Ûé _______ ïõÐéüÈÛÛýÛ ™öé.  
   (a) ÈÛ¸ÛÁõÛÉÛ (b) ¼Û˜Û©Û 
   (c) Š©¸ÛÛþù¶Û (d) ÈÛÐêü˜Û¨Ûà 
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  (3) ¾ÛÛ×•Û ÜÈÛµÛéýÛ …é ________ ÜÈÛµÛéýÛ ™öé.  
   (a) ÍÛäÁéõ”Û (b) ¸ÛÁõÈÛÅÛýÛ 
   (c) ÜªÛ–ÛÛ©Û (d) ÈÛ’õÛïõÛÁõ 
 (4) ¾ÛÛ×•Û¶Ûà ÍÛÛ¸Ûé“Û©ÛÛ¶ÛÛ ________ ¸ÛóïõÛÁõ ™öé.  

   (a) …éïõ (b) ªÛ¨Û 
   (c) ¸ÛÛ×̃ Û  (d) –Û¨ÛÛ 
 (5) ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ¶Ûà Ýïõ¾Û©Û ________ …¶Ûé ________ ÈÛ˜˜Ûé ÐüÛéýÛ ™öé.  
   (a) 1, –1 (b) –∞, 0 

   (c) 0, ∞ (d) –∞, ∞ 

 (6) …¸Ûæ̈ ÛÙ ÐüÜÁõºõÛˆ¾ÛÛ× ÜÍÛ¾ÛÛ¶©Û …ÛÈÛïõ Áéõ”ÛÛ, ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ Áéõ”ÛÛ ________ …×©ÛÁõ¬Ûà ïõÛ¸Ûé ™öé.  

  (a) ¼Û¾Û¨ÛÛ (b) ÍÛÁõ”ÛÛ 
  (c) ¾ÛéÇ ¶Û ÐüÛéýÛ  (d) …¦øµÛÛ 
 (7) MC Áéõ”ÛÛ AC Áéõ”ÛÛ¶Ûé AC ¶ÛÛ ________ Ý¼Ûþäù…é ™öéþéù ™öé.  

  (a) Š˜˜Û©Û¾Û (b) ¶ýÛæ¶Û©Û¾Û 
  (c) ÈÛµÛ©ÛÛ (d) –Û¤ø©ÛÛ 
 (8) …éïõ ÐüÛÁõ ËÛéÜ¨Ûïõ¾ÛÛ× ________ Í©Û×½Û …¶Ûé ________ ÐüÛÁõ¶Ûà ÍÛ×”ýÛÛ ÐüÛéýÛ ™öé.  

  (a) n, 1 (b) 1, n 

  (c) 0, n (d) n, 0 

 (9) ¸Ûó¾ÛÛÜ¨Û©Û ÈÛ’õ¾ÛÛ× –
X ± 3σ  ________ ÜÈÛÍ©ÛÛÁõ ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé.  

  (a) 99.23% (b) 99.37% 

  (c) 99.73% (d) …Û¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá  

 (10) Ü³ù¸Ûþùà ÜÈÛ©ÛÁõ¨Û¶Ûä× ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û ________ ÐüÛéýÛ ™öé.  
  (a) np (b) npq 

  (c) np (d) npq 

 (11) ÍÛºõÇ©ÛÛ¶Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ + Ü¶ÛÌºõÇ©ÛÛ¶Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ = ________ 

  (a) –1 (b) 0 

  (c) 1 (d) 2 

 (12) ›Ûé –Û¤ø¶ÛÛ…Ûé ¸ÛÁõÍ¸ÛÁõ Ü¶ÛÈÛÛÁõïõ ¶Û ÐüÛéýÛ ©ÛÛé P(A …¬ÛÈÛÛ B) = P(A) + P(B) – ________. 

  (a) P(A + B) (b) P(A/B) 

  (c) P(B/A) (d) P(A – B) 

  (e) …éïéõýÛ ¶ÛÐüá 
 (13) A ∪ A = ________ 

  (a) A (b) 2A 

  (c) 1 (d) A2 

 (14) A ∩ A = ________ 

  (a) A (b) 2A 

  (c) 1 (d) A2 

___________ 
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1. Explain different functions in Economics with help of diagrams. 14 

               OR 

 Explain rules of differentiation and partial differentiation. 

 

2. Discuss the rules of integration and its applications in Economics. 14 

       OR 

 Discuss the : 

 (a) Properties of Determinants 

 (b) Operations on Matrices 

 

3. Discuss any two : 14 

 (a) Law of multiplication in probability. 

 (b) Candiational Probability 

 (c) Baye’s theorem 

 (d) Applications of Baye’s theorem 

 

4. Discuss : (any two) 14 

 (a) Merits and demerits of Binomial distribution. 

 (b) Merits and demerits of Poisson distribution. 

 (c) Merits and demerits of Normal distribution. 

 (d) Properties of Vector 

 

5. Select the correct answer : 14 

 (1) Power of variable is one, the function is 

   (a) Linear (b) Hyperbola 

   (c) Cubic (d) Curvilinear 

 (2) Transformation of inputs into output is called 

   (a) Consumption (b) Savings 

   (c) Production (d) Distribution 
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  (3) Demand function is ________ function. 

   (a) Linear (b) Hyperbola 

   (c) Cubic (d) Curvilinear 

 (4) There are ________ types of elasticity of demand. 

   (a) one (b) three 

   (c) five  (d) many 

 (5) Values of price elasticity of demand are between ________ and ________ 

   (a) 1, –1 (b) –∞, 0 

   (c) 0, ∞ (d) –∞, ∞ 

 (6) Marginal revenue curve cuts ________ way for average revenue curve under 

imperfect competition. 

  (a) double (b) equal 

  (c) uneven (d) half 

 (7) MC curve cuts AC curve at ________ point of AC curve. 

  (a) highest (b) minimum 

  (c) rising (d) diminishing 

 (8) In a raw matrix number of columns are ________ and raws are ________. 

  (a) n, 1 (b) 1, n 

  (c) 0, n (d) n, 0 

 (9) Under a normal curve 
–
X ± 3σ covers ________ area. 

  (a) 99.23% (b) 99.37% 

  (c) 99.73% (d) None of these 

 (10) Standard deviation of binomial distribution is ________. 

  (a) np (b) npq 

  (c) np (d) npq 

 (11) Probability of success + Probability of failure = ________ 

  (a) –1 (b) 0 

  (c) 1 (d) 2 

 (12) When events are not mutually exclusive P(A or B) = P(A) + P(B) – ________. 

  (a) P(A + B) (b) P(A/B) 

  (c) P(B/A) (d) P(A – B) 

  (e) None of these 

 (13) A ∪ A = ________ 

  (a) A (b) 2A 

  (c) 1 (d) A2 

 (14) A ∩ A = ________ 

  (a) A (b) 2A 

  (c) 1 (d) A2 

___________ 
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1. ¶Ûà˜Ûé¶ÛÛ ¾ÛÛ¤éø •Ûä̈ Û …¶Ûé þùÛéÌÛ ÍÛ¾Û›ÛÈÛÛé : (ïõÛé̂  ¼Ûé) 14 

 (a) ¾ÛµýÛïõ 
  (b) ¾ÛµýÛÍ¬Û 
 (c) ¸ÛóÍÛÛÁõ½ÛÛÈÛ 
 (d) –Û×¤øÛïõÛÁõ©ÛÛ 
 

2. •Û¾Ûé ©Ûé ¼Ûé ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé : 14 

  (a) ¼ÛéýÛ¡ö ÜÍÛ±ùÛ×©Û  
 (b) Ü³ù¸Ûþùà ÜÈÛ©ÛÁõ¨Û 
 (c) ¸ÛÛé̂ ÍÛÛñ ÜÈÛ©ÛÁõ¨Û 
 (d) ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ©ÛÁõ¨Û 
 

3. •Û¾Ûé ©Ûé ¼Ûé¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé : 14 

 (a) ÍÛ×ýÛäî©Û ÍÛ×½ÛÛÈÛ¶ÛÛ ÜÈÛ©ÛÁõ¨Û 
 (b) ÉÛÁõ©Ûà ÜÈÛ©ÛÁõ¨Û 
 (c) ýÛ´ù˜™ö ˜ÛÅÛ¶Ûä× ÜÈÛ˜ÛÁõ¨Û …¶Ûé ©Ûé¶ÛÛ •Ûä̈ ÛµÛ¾ÛÛë.  

 (d) ¸Ûó¬Û¾Û …¶Ûé Ü³ù©ÛàýÛ ïõ“ÛÛ¶Ûà •ÛÛÜ¨ÛÜ©Ûïõ …¸Ûé“ÛÛ…Ûé. 
 

4. ¶Ûà˜Ûé¶ÛÛ¶ÛÛ ½Ûéþù …Û¸ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 14 

 (a) ÍÛé¶ÍÛÍÛ ÜÈÛÂú±ù Ü¶ÛþùÉÛÙ¶Û 
 (b) ÍÛ×½ÛÛÈÛ¶ÛÛ Ü¶ÛþùÉÛÙ¶Û ÜÈÛÂú±ù Ü¼Û¶Û-ÍÛ×½ÛÛÈÛ¶ÛÛ Ü¶ÛþùÉÛÙ¶Û 
 (c) ýÛ´ù˜™ö Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û ÜÈÛÂú±ù Í©ÛÁõà©Û Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û 
 (d) Ü¶ÛþùÉÛÙ¶Û “ÛÜ©Û…Ûé ÜÈÛÂú±ù Ü¼Û¶Û-Ü¶ÛþùÉÛÙ¶Û “ÛÜ©Û…Ûé  
 

5. ÍÛÛ˜ÛÛ ›÷ÈÛÛ¼ÛÛé ¸ÛÍÛ×þù ïõÁõÛé : 14 

 (1) n ÍÛ×”ýÛÛ¶ÛÛ ¾ÛµýÛïõ¾ÛÛ×¬Ûà ÅÛàµÛéÅÛ ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûà Ýïõ¾Û©ÛÛé¶ÛÛé ÍÛÁõÈÛÛÇÛé _________ ¬ÛÛýÛ. 
  (a) n (b) 0 

  (c) 1 (d) …Û¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá  

 (2) •Ûä̈ ÛÛ©¾Ûïõ ¾ÛÛ¸Û¶Û ¾ÛÛ¤éø Š«Û¾Û ýÛÛé•ýÛ ÍÛÁéõÁõÛÉÛ _________ ™öé.  
  (a) ¾ÛµýÛïõ (b) ¾ÛµýÛÍ¬Û 
  (c) ¼ÛÐäüÅÛïõ (d) ½ÛÛíéÜ¾ÛÜ©Ûïõ ¾ÛµýÛïõ 
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 (3) ËÛé̈ Ûà…Ûé¶Ûà ©ÛäÅÛ¶ÛÛ ¾ÛÛ¤éø _________  ¸ÛýÛÛÙ̧ ©Û ¶Û¬Ûà.  

  (a) ¾ÛµýÛïõ (b) ¼ÛÐäüÅÛïõ 
  (c) ¾ÛµýÛÍ¬Û (d) …Û¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

 (4) ¾ÛµýÛÍ¬Û¾ÛÛ×¬Ûà ÅÛàµÛéÅÛ Ü¶ÛÁõ¸Ûé“Û ÜÈÛ˜ÛÅÛ¶Û¶ÛÛé ÍÛÁõÈÛÛÇÛé _________ ÐüÛéýÛ ™öé.  

  (a) ¶ýÛæ¶Û©Û¾Û (b) …ÜµÛïõ©Û¾Û 
  (c) ÉÛæ¶ýÛ  (d) ÍÛÁõ”ÛÛé  

 (5) ¸Ûó¾ÛÛÜ¨Û©Û …ÛÅÛé”Û¾ÛÛ× –
X ± 3σ  ________ ÜÈÛÍ©ÛÛÁõ ÍÛ¾ÛÛÈÛéÉÛ ïõÁéõ ™öé.  

  (a) 99.23% (b) 99.37% 

  (c) 99.73% (d) …Û¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 
 (6) šýÛÛÁéõ ¾ÛµýÛïõ ________ ¼ÛÐäüÅÛïõ ÐüÛéýÛ ©ýÛÛÁéõ –Û×¤øÛïõÁõ©ÛÛ µÛ¶Û ÐüÛéýÛ ™öé.  

  (a) ¼ÛÁõÛ¼ÛÁõ (b) ¾ÛÛé¤øÛé 
  (c) ¶ÛÛ¶ÛÛé (d) …éïõ-¼Ûà›Û¬Ûà …ÅÛ•Û 

 (7) ¤øà¸Ûé¤ø¶ÛÛ ýÛ´ù˜™ö ÍÛ×”ýÛÛ ïõÛéÌ¤øïõÛé¾ÛÛ× ¾ÛÐü«Û¾Û ïéõ¤øÅÛà ÍÛ×”ýÛÛ …Û¸ÛéÅÛà ™öé ? 

  (a) 10,000 (b) 10,100 

  (c) 10,200 (d) 10,400 

 (8) šýÛÛÁéõ Ü¶ÛþùÉÛÙ¶Ûä× ïõþù ________ ÐüÛéýÛ ©ýÛÛÁéõ ©Ûé¶Ûé •ÛäÂú Ü¶ÛþùÉÛÙ ïõÐéüÈÛÛýÛ.  

  (a) 30 ïõÁõ©ÛÛ× …Ûé™öÛé (b) 25 ïõÁõ©ÛÛ× …Ûé™öÛé 
  (c) 20 ïõÁõ©ÛÛ× …Ûé™öÛé (d) …Û¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá  

 (9) Í©ÛÁõà©Û ýÛ´ù˜™ö Ü¶ÛþùÉÛÙ¾ÛÛ× þùÁéõïõ ÜÈÛ½ÛÛ•Û …éïõ¼Ûà›Û¬Ûà ________ ÐüÛéýÛ ™öé.  

  (a) …ÛµÛÛÁõà©Û  (b) ÍÛÁõ”ÛÛ 
  (c) ÍÈÛ©Û×ªÛ  (d) ©ÛÛÜïÙõïõ 

 (10) H0 ÍÛÛ˜Ûà ÐüÛéÈÛÛ ™ö©ÛÛ× ©Ûé¶ÛÛé …ÍÈÛàïõÛÁõ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ©ÛÛé ©Ûé ________ ½ÛæÅÛ ™öé.  

  (a) ¸ÛóïõÛÁõ-IV (b) ¸ÛóïõÛÁõ-III 
  (c) ¸ÛóïõÛÁõ -II (d) ¸ÛóïõÛÁõ-I 
 (11) ›Ûé ¸Ûó¾ÛÛÜ¨Û©Û þùÛéÌÛ …Ûé™öÛé ÐüÛéýÛ ©ÛÛé Ü¶ÛþùÉÛÙ ________ ÐüÛéýÛ ™öé.  
  (a) ÜÈÛÊÈÛÛÍÛ¸ÛÛªÛ (b) Ü¼Û¶Û-ÜÈÛÊÈÛÛÍÛ¸ÛÛªÛ 
  (c) ýÛ´ù˜™ö (d) ÉÛæ¶ýÛ  

 (12) Ü³ù¸Ûþùà ÜÈÛ©ÛÁõ¨Û¶Ûä× ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û ________ ÐüÛéýÛ ™öé.  
  (a) np (b) npq 

  (c) np (d) npq 

 (13) χ2-ÜÈÛ©ÛÁõ¨Û¶Ûà ÍÈÛ©Û×ªÛ©ÛÛ¶Ûà ¾ÛÛªÛÛ ïéõ¤øÅÛà ÐüÛéýÛ ™öé ? 

  (a) n (b) n – 1 

  (c) 2n (d) n – 2 

 (14) t-ÜÈÛ©ÛÁõ¨Û ïõÛé̈ Ûé …Û¸ýÛä× ? 

  (a) Í¤äø¦ø¶¤ø (b) ¤øà˜ÛÁõ 
  (c) ¾ÛÛÉÛÙÅÛ (d) •ÛÛéÍÛé¤ø 

__________ 
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1. Explain merits and demerits of following : (any two) 14 

 (a) Mean 

  (b) Median 

 (c) Dispersion 

 (d) Skewness 

 

2. Write notes on any two : 14 

  (a) Baye’s theorem 

 (b) Binomial distribution 

 (c) Poisson distribution 

 (d) Normal distribution 

 

3. Explain any two : 14 

 (a) Joint probability distribution 

 (b) Conditional distribution 

 (c) Variance of random variable and its properties. 

 (d) First and second order mathematical expectations. 

 

4. Distinguish between following : (any two) 14 

 (a) Census vs. Sampling 

 (b) Probability sampling vs. Non-probability sampling 

 (c) Random sampling method vs. Stratified sampling method 

 (d) Sampling errors vs. Non-sampling errors 

 

5. Select correct answer : 14 

 (1) The algebraic sum of the deviations of a set of n values from arithmetic mean is 

_________. 

  (a) n (b) 0 

  (c) 1 (d) none of these 
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 (2) The most suitable average for qualitative measurement is _________. 

  (a) mean (b) median 

  (c) mode (d) geometric mean 

 (3) _________ is not sufficient to compare the series. 

  (a) Mean (b) Mode 

  (c) Median (d) None of these 

 (4) Sum of absolute deviations about median is _________. 

  (a) the least (b) the greatest 

  (c) zero (d) equal 

 (5) Under a normal curve 
–
X ± 3σ covers ________ of area. 

  (a) 99.23% (b) 99.37% 

  (c) 99.73% (d) None of these 

 (6) Skewness is positive when mean ________ mode. 

  (a) equal to (b) greater than 

  (c) less than  (d) not related with 

 (7) How many numbers are given in Tippet’s Random Numbers Tables ? 

  (a) 10,000 (b) 10,100 

  (c) 10,200 (d) 10,400 

 (8) Sample size is said to be large when it is ________. 

  (a) less than 30 (b) less than 25 

  (c) less than 20 (d) none of these 

 (9) Each strata is ________ to each other in stratified random samples. 

  (a) dependent (b) equal 

  (c) independent (d) rational 

 (10) When H0 is rejected even it is true, is ________ error. 

  (a) Type-IV (b) Type-III 

  (c) Type-II (d) Type-I 

 (11) If standard error is less sample is ________. 

  (a) Reliable (b) Not-reliable 

  (c) Random (d) Null 

 (12) Standard deviation of binomial distribution is ________. 

  (a) np (b) npq 

  (c) np (d) npq 

 (13) What is a degree of freedom of χ2-distribution ? 

  (a) n (b) n – 1 

  (c) 2n (d) n – 2 

 (14) Who has given t-distribution ? 

  (a) Student (b) Teacher 

  (c) Marshall (d) Goset 

__________ 


